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PROVA BASICO 2
(BASIC 2 TEST)

[TOTAL 100 POINTS]

1) Complete as lacunas com o verbo TO BE no Simple Past e passe as

frases para as formas interrogativa e negativa.

[TOTAL 9 POINTS]

a) Gabriel and Jenny at school yesterday. [1,0 point]

l: [1,0 point]
N: [1,0 point]
b) Angela very sad last night. (1,0 point]

l: [1,0 point]
N: [1,0 point]
c) It a rainy morning. [1,0 point]

I [1,0 point]

N: [1,0 point]
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2) Rewrite these invitations using “would.” Then give an excuse using

the words in parentheses:

Example:

Do you want to see a movie? (my cat/sick)
Answer: Would you like to see a movie?

Excuse: I'd love to, but my cat is sick.
[TOTAL 6 POINTS]

a) Do you want to have dinner? (my car/broken) [1,0 point]

Excuse: [1,0 point]

b) Do you want to go out tonight? (I/study) (1,0 point]

Excuse: [1,0 point]

c) Do you want to play soccer with us? (my ankle/twisted) (1,0 point]

Excuse: [1,0 point]
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3) Answer the questions according to the text:

[TOTAL 10,5 POINTS]

Matt and Earl are brothers. They were born in a small town in North
Carolina. Matt moved to Chicago in 2013 to work as a chef. “Cooking has
always been my dream, but big cities are tough,” he says. Earl stayed
home and helped his father on the family farm. “I like to work with my
father, but getting up early has always been difficult for me,” Earl says.
Matt and Earl only meet twice a year, on Christmas and on their
mother’s birthday. Last year, Matt didn’t come on Christmas, because

he spent the holidays with his wife’s family.

a) Where were Matt and Earl born? 1,5 point]

b) When did Matt move to Chicago? [1,5 point]

c) How often do Matt and Earl meet each other? [1,5 point]

d) What does Earl do? [1,5 point]
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e) What does Matt think about big cities? [1,5 point]

f) Why did Matt move to Chicago? (1,5 point]

g) Did Matt come to Christmas last year? Why or why not? [1,5 point]

4) Complete using in, in the, on, at or at the:

[TOTAL 10 POINTS]

a) Travis is not home. He is vacation. [2,0 points]

b) Chicago, | ate National restaurant. [2,0 points]

c) You have a fever. Just stay bed and rest. 1,0 point]

d) I saw Victor school. We are the same class. 2,0 points]

e) Did you see his new home? There’s a swimming pool yard.

[1,0 point]

f) Michael went a trip. He is airport right now. [2,0 points]
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5) Use the comparatives of the adjectives in parentheses. Follow the

example:
[TOTAL 5 POINTS]

Example:

In Campinas, there are 1,5 million people.

In Floriandpolis, there are 500 thousand people. (big)
Campinas is bigger than Floriandpolis.

a) A pair of glasses costs US 300,00.

A pair of pants costs US 50,00. (expensive)

[1,0 point]

b) Via Dutra is 402 kilometers long.
Route 66 is 3,939 kilometers long. (long)

[1,0 point]

c) This History book is very interesting.
That Geography book is not very interesting. (interesting)

[1,0 point]

d) The CN Tower, in Toronto, is 553 meters high.
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Tower Bridge, in London, is 42 meters high. (high)

[1,0 point]

e) Peter’s TV is 50 inches wide.

Mark’s TV is 32 inches wide. (wide)

[1,0 point]

6) Complete o didlogo com as palavras abaixo:

[TOTAL 5 POINTS]

It — one — only — stronger — which — one -

cheaper — prefer — much — nicer

GINA: jacket do you prefer? (0,5 point]
SUE: | the blue . I think blue is than green.
[1,5 points]
GINA: But look at the price. is US 100,00. The green one is
. [1,0 point]
SUE: How is it? [0,5 point]

GINA: It’s US 75,00. [0,5 point]




Inglées Facil

com Prof. Marcondes

SUE: You are right. And the green is made of leather. | think

leather is than jeans. [1,0 point]

GINA: Just buy it, then. Or | will.

7) Rewrite these sentences using determiners (All, Nearly all, Most,
Many, A lot of, Some, Not many, A few, Few, No one). Follow the

example:

Attention: More than one answer may be possible.
[TOTAL 4 POINTS]

Example:
More than 90% of the people in North America live in cities.
Most people in North America live in cities.

a) 91.47% of all internet searches are carried out by Google. [1,0 point]

b) 68% of all Americans are on Facebook. [1,0 point]

c) Only 9% of U. S. small businesses use YouTube. [1,0 point]
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d) 24% of US teens cite Instagram as their favorite social network.

[1,0 point]

8) Fill in the blanks with MUCH or MANY:

[TOTAL 4 POINTS]

a) How colors are there in a rainbow? [0,5 point]

b) I don’t have money, but | can buy pencils, because

they are cheap. [1,0 point]
c) She doesn’t work , but she reads books. [1,0 point]

d) There isn’t traffic in my town, but streets are

crowded. [1,0 point]

e) What a waste! You spend too water in the shower. [0,5 point]

9) Fill in the blanks using the Simple Past or the Past Continuous.
Follow the example:

[TOTAL 4 POINTS]

Example

/ (watch) TV when you (call).



http://uk.businessinsider.com/for-us-teens-snapchat-is-more-popular-than-instagram-twitter-charts-2017-10
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Answer: | was watching TV when you called.

a) She (arrive) when they (play).

[1,0 point]

b) Tim (lose) his wallet when he (travel).
[1,0 point]

c) Lidia (cook) dinner when she (cut) her

finger. [1,0 point]

d) It (rain) by the time | (come) home.

[1,0 point]

10) Fill in the blanks with ALREADY, YET or JUST:
[TOTAL 3,5 POINTS]

a) Don’t make any noise. lhave _ put the baby to sleep. (0,5 point]
b) FATHER: Have you cleaned your bedroom _ ?[0,5 point]

SON: Yes, daddy. | have cleaned it. [0,5 point]

c) SARAH: Has Marcus finished work ? [0,5 point]

KYLE: No, actuallyhehas __ begun. (0,5 point]

d) WOMAN: | haven’t seen your new shoes . [0,5 point]
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MAN: Well, | have worn them many times. [0,5 point]

11) Fill in the blanks with the Present Perfect and turn the sentences
into the negative and interrogative forms:

[TOTAL 12 POINTS]

a) James too many hours. (work) (1,0 point]

l: [1,0 point]
N: [1,0 point]
b) Wilson and | already this subject. (study) (1,0 point]

l: [1,0 point]
N: [1,0 point]
c) She a brand new car. (drive) [1,0 point]

I [1,0 point]
N: [1,0 point]
d) They a camel. (buy) 11,0 point]

l: [1,0 point]

N: [1,0 point]
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12) Fill in the blanks using the Simple Past or the Present Perfect:

[TOTAL 4,5 POINTS]

a) A: you ever a horse? (ride) (1,0 point]

B: Yes, of course. | one last Friday. (ride) [0,5 point]

b) A: How many times you to Europe? (be) (1,0 point]
B: A few times. | there last Summer. (g0) (0,5 point]

c) A: you my keys lately? (see) (1,0 point]

B: I them yesterday near your purse. (see) [0,5 point]

13) Fill in the blanks with GONE or BEEN:

[TOTAL 2 POINTS]

a) MOTHER: Where have you Susan? [0,5 point]

SUSAN: | went to the mall. | was only for a couple of hours.
[0,5 point]

b) Homer is back. He has to Spain. [0,5 point]

c) Greg is not home. He has to work. [0,5 point]

14) Choose the correct form of agreement:
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[TOTAL 2 POINTS]
14.1) | love healthy food. (0,5 point]

a)Sodoll.
b) I can too.
c) So | do.

14.2) | can’t stand spicy food. [0,5 point]
a) | can too.
b) So can I.

c) | can’t either.

14.3) She doesn’t like dessert. (0,5 point]
a) She does too.
b) Neither do I.

c) | don’t too.

14.4) | am crazy about Italian food. [0,5 point]
a)Soam .
b) | do too.

c) I’'m not either.
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15) Complete with the Comparative or Superlative form of the
adjectives in parenthesis:

[TOTAL 5 POINTS]

a) Which is (big), a car or an airplane? (1,0 point]

b) A: Is Brazil (large) than Russia? (1,0 point]

B: No, it isn’t. Russia is the (large) country in the world.
[1,0 point]

c) A: | think Rick is (intelligent) than Pat. [1,0 point]
B: | disagree. Pat is the (intelligent) person | know.
[1,0 point]

16) Complete the following questions using HOW OFTEN, HOW DEEP,
HOW WIDE, HOW BIG, HOW OLD, HOW LONG or HOW TALL:

[TOTAL 3,5 POINTS]

a) do you exercise? [0,5 point]

Answer: | exercise three times a week.

b) are you? [0,5 point]

Answer: | am 23 years old.

c) is that swimming pool? [0,5 point]

Answer: It is 3 meters deep.

d) is Via Dutra? (0,5 point]

Answer: It’s more than 400 kilometers long.

e) is Mark? [0,5 point]
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Answer: He is 1.87 meters tall.

f) is your TV set? (0,5 point]

Answer: It’s 50 inches wide.

g) is Lindsey’s house? [0,5 point]

Answer: It’s huge. There are 6 bedrooms in her house.

17) Ask someone to pass on the messages written on these message
slips. Follow the example:

[TOTAL 3 POINTS]

Example:
Karl,
George is waiting at the mall.

Would

Answer: Would you tell Karl (that) George is waiting at the mall?

a) Patrick,
Buy some milk.

Could . [1,0 point]

b) Simone,
Leonard will be late for dinner.

Please . [1,0 point]

c) Gina,
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Don’t wait me up.

Would . [1,0 point]

18) Complete with the correct Reflexive Pronoun:

[TOTAL 4 POINTS]

a) Go away! | want to be by . [1,0 point]

b) The boy hurt playing in the park. [1,0 point]

c) We don’t really know until we face a difficult situation.
[1,0 point]

d) Let the kids by . They will learn a lesson. [1,0 point]

19) Complete these sentences with the future, using the verbs in
parenthesis.

Decide whether to use WILL + Verb or BE GOING TO + Verb:

[TOTAL 3 POINTS]

a) | don’t think Silvia (come) to the party. [1,0 point]

b) Bruna (meet) Kevin on Friday. [1,0 point]

c) A: Would you like to play chess?

B: Sure, why not. | (play) with you. (1,0 point]

GOOD LUCK!



